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POLYNOMIALS 
 

 
EXERCISES:  
 

(1)   (−𝑥2 + 4𝑥𝑦 + 𝑦2) + (3𝑥2 − 𝑥𝑦 − 𝑦2) 
 

(2)   (5𝑥2 + 6𝑥 − 3) − (3𝑥2 − 𝑥 − 5) 
 

(3)   (4𝑎3 − 𝑎2𝑏 + 6𝑏 − 𝑎𝑏2) − (3𝑎2𝑏 + 𝑎𝑏2 − 𝑏3) 
 
 

(4)  5𝑥(3𝑥𝑦 + 4𝑦 − 5𝑥)                     (5) (3𝑥 + 1)(2𝑥 − 6)                     (6) (𝑥 − 3𝑦)(6𝑥 − 7𝑦) 
 

(7) (𝑥2 + 3)(3𝑥2 + 10)                      (8) (2𝑥 + 7)2                                (9) (5𝑥 − 3𝑦)2 
 

(10)  (6𝑎2 + 5𝑏2)2                            (11) (7𝑟2 − 𝑟𝑠 + 4𝑠2)(𝑟2 − 7𝑟𝑠 + 12𝑠2) 

ADDING AND SUBTRACTING 
 

Example:  (2𝑥2 − 3𝑥 + 4) + (2𝑥3 − 𝑥2 + 𝑥 − 8) 

(2𝑥2 − 3𝑥 + 4) + (2𝑥3 − 𝑥2 + 𝑥 − 8)

2𝑥2 − 3𝑥 + 4 + 2𝑥3 − 𝑥2 + 𝑥 − 8
2𝑥3 + 𝑥2 − 2𝑥 − 4

 

 

Example:  (𝑥𝑦2 − 𝑥𝑦 + 𝑥2𝑦) − (3𝑥𝑦 + 4𝑥2𝑦 − 5𝑥𝑦2) 

(𝑥𝑦2 − 𝑥𝑦 + 𝑥2𝑦) − (3𝑥𝑦 + 4𝑥2𝑦 − 5𝑥𝑦2)

𝑥𝑦2 − 𝑥𝑦 + 𝑥2𝑦 − 3𝑥𝑦 − 4𝑥2𝑦 + 5𝑥𝑦2

−3𝑥2𝑦 − 4𝑥𝑦 + 6𝑥𝑦2

 

 

Combine like terms 

Distribute the negative 

Combine like terms 

MULTIPLYING 
 
Example:  Simplify. 

    a)   4𝑥2(5𝑥2 − 𝑥 + 3)                                b)   (2𝑥 + 3𝑦)(5𝑥 − 4𝑦) 

         = 20𝑥4 − 4𝑥3 + 12𝑥2                                = 10𝑥2 − 8𝑥𝑦 + 15𝑥𝑦 − 12𝑦2 

                                                                           = 10𝑥2 + 7𝑥𝑦 − 12𝑦2 
 
  

    c)   (3𝑥 − 2𝑦)2                                          d)   (𝑥2 − 𝑥 + 3)(3𝑥2 + 4𝑥 − 9) 
                   = (3𝑥 − 2𝑦)(3𝑥 − 2𝑦)                     = 3𝑥4 + 4𝑥3 − 9𝑥2 − 3𝑥3 − 4𝑥2 + 9𝑥 + 9𝑥2 + 12𝑥 − 27 

                   = 9𝑥2 − 6𝑥𝑦 − 6𝑥𝑦 + 4𝑦2               = 3𝑥4 + 𝑥3 − 4𝑥2 + 21𝑥 − 27 

                   = 9𝑥2 − 12𝑥𝑦 + 4𝑦2 
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EXERCISES: 
 

(12) (3𝑥 + 1)2                  (13)  (4𝑐 − 3𝑑)2                  (14)  (
1

3
𝑥 + 2)

2
                 (15)  (2𝑥2 − 4𝑦3)2 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Answers 
 

1.)  2𝑥2 + 3𝑥𝑦 

2.)  2𝑥2 + 7𝑥 + 2 

PERFECT SQUARE TRINOMIALS 
 

(𝒂 + 𝒃)𝟐 = 𝒂𝟐 + 𝟐𝒂𝒃 + 𝒃𝟐

(𝒂 − 𝒃)𝟐 = 𝒂𝟐 − 𝟐𝒂𝒃 + 𝒃𝟐 

 
Examples:  Simplify. 

    a)    (2𝑥 + 5)2                                        b)     (
1

2
𝑟 − 4𝑠3)

2
                                 

         = (2𝑥)2 + 2 ∙ 2𝑥 ∙ 5 + 52                          = (
1

2
𝑟)

2
− 2 ∙

1

2
𝑟 ∙ 4𝑠3 + (4𝑠3)2                        

         = 4𝑥2 + 20𝑥 + 25                                    =
1

4
𝑟2 − 4𝑟𝑠3 + 16𝑠6                                     
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3.)  4𝑎3 − 4𝑎2𝑏 − 2𝑎𝑏2 + 6𝑏 + 𝑏3 

4.)  15𝑥2𝑦 + 20𝑥𝑦 − 25𝑥2 

5.)  6𝑥2 − 16𝑥 − 6 

6.)  6𝑥2 − 25𝑥𝑦 + 21𝑦2 

7.)  3𝑥4 + 19𝑥2 + 30 

8.)  4𝑥2 + 28𝑥 + 49 

9.)  25𝑥2 − 30𝑥𝑦 + 9𝑦2 

10.)  36𝑎4 + 60𝑎2𝑏2 + 25𝑏4 

11.)  7𝑟4 − 50𝑟3𝑠 + 95𝑟2𝑠2 − 40𝑟𝑠3 + 48𝑠4 

12.)  9𝑥2 + 6𝑥 + 1 

13.)  16𝑐2 − 24𝑐𝑑 + 9𝑑2 

14.)  
1

9
𝑥2 +

4

3
𝑥 + 4 

15.) 4𝑥4 − 16𝑥2𝑦3 + 16𝑦6 
 


